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MATHEMATICS
1.  =SRo30 Fe@od n JSRY ISP S, = . (_tanx_)
n 4, xl-l-TO m_z o g3
n? + n SO, FRROIT 3,:R0D WINT,
(A) 2 (B) 3
BT, 3D ©) 4 (D) 6
(A) 4 (B) 1
)2 S 5. “oop TENE X, x Y y rent
, x+ty=y+x" 5 wicd JoE
3 Tl =n B 'x + m'y = n' QOOS
X+ my=n O /x +m'y =n"%Q ogoto
QOB Fovdeslnish wowmNYTTS
(A) 2R, I zso‘:d5 x T y ner,
(A) II'+mm'=0
xty#y+tx
(B) /m'=m/
(B) Fo3y To3as noa% x R y nen,
(C) Im+I'm'=0
(D) Im'+ml'=0 By =ytx
(C) doxy =38 Roas, x WY y ner,
x+tyzy+x
3.  Zosvoda? = day i (2, 1) RO
(D) SOy YL Fo2s, x X y Ner,
Toeet T et Pod vow
X-y=y-x
TR0y
e 6. 6,7,8,9, 10 CE08a SRR DR
(B) 4
s (A) 2 (B) /10
Y =% =10
‘(D) 8 (©) (D)
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MATHEMATICS

1. If the sum of n terms of an A.P. is i i [ tanx. )is it
given by S_=n? + n, then the common x=>0\\2x +4-2
difference of the A.P. is (A) 2 B) 3
(A) 4 (B) 1 <€ 4 (D) 6
© 2 (D) 6
5.  The negation of the statement “For all :
2. The two lines Ix+my=n and real numbers x and y, x +y =y +x"is
I'x + m'y = n' are perpendicular if (A) for all real numbers x and .y,
(A) I'+mm'=0 x+ty#Ey+x
(B) !m'=m/ (B) for some real numbers x and y,
(C) m+I'm'=0 XYy =y Fx
(D) Im+ml'=0 . (C) for some real numbers x and vy,
X +y#zy+x
' (D) for some real numbers x and y,
3.  If the parabola x? = 4ay passes through AR
the point (2, 1), then the length of the
latus rectum is
A) 1 6. The standard deviation of the data
B) 4 6,7,8,9,10is
©y 2 (A) 2 (B) /10
(D) 8 ©€) 2 (D) 10
Space For Rough Work

Mathematics




JOXS  [IEW Y ST, 10. v A= {a, b, c} SR, fes A @ Foed
PUENATT A, B, C nso P(A) = 2P(B) = QRS 8, 000D 283 Bosdish
3P(C) =& 3 rtevand P(B) odw
(A) 3 (B) 36
1 2
A 11 B) 17 (c) 33 (D) 3°
T 4
© 1 B T ‘
1. fx)=cos\x— 1 v33@ g3y
8. R 5% ney {12, 3} = Boewed (A) [1,2] (B) [0,2]
Fowogiameh W, el awen R = {(1, 1)} (o) I S I (D) [0, 1]
- smon, R )
(A)  TSFOR B Inond & o
12. cos (sin‘I 3 +cos™! g) S tedo3
(B) T3N3 o8 :
(C) R=nord oz moms (4} .0
(D) m=mord 2ng, By 4
() -1
(D) ©RITOT[HOY,
9. eu3g f:[2, ®) — R I flx) = P
x2 — 4x + 5 20T s 0, f 3
59, 030 0.0 1
- 4
AT i 13. A 0 1 0 |==8A* aowmd
189
(B) [1,)
) (1, ) (A) A (B) 2A
(D) [5,) © 1 (D) 4A
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If A, B, C are three mutually exclusive 10. If A = {a, b, c}, then the number of
and exhaustive events of an experiment binary operations on A is
such that P(A) = 2P(B) = 3P(C), then (3 (B) 36
P(B) is equal to ©) 3 D) 3°
1 2
A) 1 ®) 17
3 4 11. The domain of the function defined by
© 17 ™ 17
flx) =cosla/x -1 is
(A) [1,2] (B) [0,2]
If a relation R on the set {1, 2, 3} be © L1 (D) [0,1]
defined by R = {(1, 1)}, then R is
(A) Reflexive and‘symmetr'ic TR The valué of
(B) Reflexive and transitive ' P "
; cos(sin‘I 3 +cos™ -3') is
(C) Symmetric and transitive ¢
(D) Only symmetric (A) 0
(B) 1
(©) -1
Let f: [2, ®) — R be th ti
1 [2, ) ¢ fumcton (D) Does not exist
defined by f(x) = x> — 4x + 5, then the
range of f is
0 01
(A) (—o0, x) ;
13. IfA=| 0 1 0 [ then A*isequalto
(B) [1,) 1 0 0
(C) (1,x) (A) A (B) 2A
(D) [5,) € 1 (D) 4A
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14. A, B. o0 I2mred  wPew Iy J Y 8 MEUE ag XRR0S0
INFPIRNGE T B 030 womd a a8 3
Qtzmon Ind ¥ $Td, A'BA 030 epotomrt % % % | medody
2 3 2
(A) =smor @Ry :
(A) 5 +a)
(B) ues, Sngd
(B) a;+ag
EEh Rt Avagn (C) log, (log.e)
(D) oxswon 3R d D) 1
o y 18. A oo 3 Dol SnFsngotnng)
15. - 08 SRS E A
[3 2] (0 1] p ) |A| = 5 55 |A adj-A| odo
=y A) 5 B) 125
28 D) 625
(z ]J [ 2 -1) © (D)
A B
(A) 3 3 (B) o s
% [-2 1)0 (2-1} .I—;;i‘:—K",ifx;eo
&
© s 2)® (5 2 19. fx)=
sy ifx=0
8l 9,809, AT LVBF Y x = 0 WOTODIY,
16. fix)=| x-a x*-x c+x |swd aawﬁmmnl(wﬁciodw
M - 1
x-b x-c¢ 0 (A) ii (B) 0
(A) f1)=0 _(B) fi2)=0 ©) +2 D) +1
(€) Ro)=0 (D) f-1)=0
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14. If A and B are square matrices of same 17. Ifa a,a,........ ay are in A.P. then the
order and B is a skew symmetric a8 -8, 8
matrix, then A'BA is et 80 Asitis
(A) Symmetric matrix B0 Mg
(B) Null matrix 9
(A) 3(a +ay)
(C) Diagonal matrix
(B) a, +
(D) Skew symmetric matrix o
(€) log, (log.e)
B R e
. = gl t
K32 R il
matrix A is 18. If A is a square matrix of order 3 and
5 1 o - |A| =5, then |A adj-A| is
w (1) wy(@
32 -3 2 (A) 5 (B) 125
5 [—2 1 J (2 -1) (C) 25 (D) 625
D
(©) 53 (D) 8
1— ;
_xzﬁ:;(x , ifx#0
-5 B uh 19. Iff(x)= 1 ‘
ki ifx=0
16. If fix) = x-a xX-x e+x :
N Tkl S S is continuous at x = 0, then the value of
then Kis
1
(A) filH=0 (B) f(2)=0 (A) (B) 0
(€) f0)=0 (D) f-1)=0 )22 (D) #1
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e ol dy
20. f(x)={ ?/’Tl , ifx#0 23 (xe)y=e"t9mﬂdx o0
0 , ifx=0
log x
PIRE  SBIOS W WO (A T tog
8,3050N 1
) (1 +log x)?
(A) 1301
0 log x
! ( (1 +logx)
B) 1=3-1 :
D
(€) "=1 -1 D) xy-1)
(D) -1a1
g d?
24, y=2x" '+Fsmﬁx2ﬁoﬁw
- d (A) 6n(n+ 1)y
X - X+ ....1
21, ¥+ =2""Yemny o ®) i + Dy
&) 2-* - (B) -»* © »P+y
g -1
(©) 27V D) %= (D) vy
25. o0 T[8,Beadnied 2x = y? A 2xy =K
: 2%
22. flx)=sin"! (1 +x2) wort £'(1/3) of TOXC wowpdsmen gedrmen K?
| { 3o
(A) —3 (B) 3
: 1 (A) 4 (B) 242
© 3 ® -7 © 2 (D) 8
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20. The right hand and left hand limit of 23, IffReitm e’ithen %is
the function
log x
e]/x__ ] (A) _.g_
———— 1+1 2
f(x)={ eliy ] s HERD (} #log)
0 , iIfx=0 1
B) Tiiloe 2
are respectively (h3g3)
log x
.(A) 1 and 1 © (1 +log x)
(B) 1and-I ¥ o
(C) -1and-1 x(y-1)
(D) —landl
3 d?y .
=,n+1 4L = 2
24, Ify=2""'+ prt then x g2
21. If2x+2y=2x*’y,thcn%¥is (A) 6n(n+ 1)y
B) n(n+1
L s (B) n(n+ 1)y
d
-1 © xg+y
(C)- 203 - s
D) vy
SR i 54 t\/' : 2
22. Iff{x)=sin s , then f'(1/3) is 25. If the curves 2x = y2 and 2xy = K
l : intersect perpendicularly, then the
(a) =3 B) 3 value of K2 is
1 I (A) 4 (B) 242
S (D) ==
\3 \3
) -2 (D) 8
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log x
26. x>0 amn, — - 3 nox wdodn
(A) e (B) 1
1 1
© 2 1 1) B kot

27.

28.

(] €
PIFOTIO 1B 5% To¥ FRET T30

ey | QAe0IFT TOTLRTOS BUFRY)

(A) 10%
(B) 60%
C) 6%

(D) 20%

1+ x*
Jl+z6dxc$ﬁdo:ba

(A) tan~! x + tan~! X3 + C

(B) tan”!'x +%tan’I B+C

. [eHe-ne9®
=Alog|x-1|+Blog|x-2| +Clog
|x - 3] + C T8 ess08,N A, B 3020
C n¥ tdgdod

(A) 571585 @) 215
©) SLS .2-1.8

30. je““’ sin 2x dx & W33

(A)>. 2 %0 (sin x— 1)+ C
(B) 2e™(sinx+1)+C
(C) 2e™(cosx+1)+C
(D) 2e™(cosx—1)+C

31. cos~lx dxr @ Idc3n

M= S -

AN
(C) tan"'x —';‘tan"I ¥ +C (A) = ®) 3
2
i3
(D) tan x+3tan! 2 +C © 1 o
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26.

27.

28.

lbgex
The maximum value of o iftx>0

is

(A) e » oyl

M | =—

© 3 i) =7

If the side of a cube is increased by
5%, then the surface area of a cube is

increased by
(A) 10%
(B) 60%
(C) 6%
(D) 20%

dx is

The value Of_fl o

(A) tan!'x+tan"!'x3+C

(B) tan'x+ % tan~! x3 4+ C

29.

30.

31,

3+

D(x-2)(x-3) &

It

= A log |x - 1| + B log |x - 2| + C log
Ix - 3| + C, then the values of A, B and
C are respectively.

(A) 5,-7,-5 (B) 2,-7,-5

(C)-35,=7,5 (D) 2, =%3

The value of f eSi™¥ gin 2x dx is

(A) 2eS™ (sinx—1)+C
(B) 2eS™(sinx+1)+C
(C) 2e™(cosx+1)+C

(D) 2e5™ (cosx—1)+C

2
The value of f cos lx dx is

T
© tanx—Ftan! ¥ +C A) = ®) 3
2
(D) tan~!x +%tan‘1 2+C ©) 1 (D) %—
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y =2x + | %0vdead, x = -1, x = |

z 3s.
2
Cos X
32. f [+ o dx T 3o RTFIBRY I x-4¥T W, U I
s
% T, 030 LAY
(A) 2 (B) 0 .
©-1 (D) -2 (A) 3 (B) 2
5
: © 3 (D) 5
1 +
33, [N 5 peens
E+x*
0
36. ¢, ¥y =(c, + c) & % Tg0eaine
(A) %log]! (B) %logZ y ¥ 3) 5,
| BLOOWE  RDOBORTY, AR
1 &
© 3 (D) glog2
WRARELAT LTEOZ FEBTLIT wedr ot
3. y? = & TyOed DRy = 2v (A) 1 (B) 2
ovdesdowor  eRImT  Boss © 3 (D) 4
DREEDFTY
37. Xy - dx = x* . dx ©=893
(A) %stcsc SRS y — 2xy x* cos x
4 AEFOEIT T, TOTT
(B) gz&ddaﬂnﬁﬁ%‘b
(A) y=x*sinx+cx?
3
(C) 7 U¥c0 Inrisd BT st
- 2
(D) gwdd Evepraial=b) (C) y=sinx+cx
(D) y=cosx+cx?
Space For Rough Work

Mathematics



% 35. The area of the region bounded by the
cosx . . line y = 2x + 1, x-axis and the ordinates
32. "I’l'lev.'fxlue:of‘J.l +exdxts .
2 x=-landx=11s
g
9
(A) 2 (B) 0 (A) 3 )2
() 1 (D) -2 5
© % D) S
1
og (1 +x)
33. The value OfJ-l [+2 & 36. The order of the differential equation
¢ obtained by eliminating arbitrary
(A) -725 log 2 (B) % log 2 constants in the family of curves
I E ¢, y=(c,+cy)er Cis
() 5 (D) Zlog2
: ; (A) 1 ®) 2
© 3 (D) 4
34, The area of the region bounded by the
curve y? = 8x and the line y = 2x is
16 37. The general solution of the differential
(A) 7 sq. units g
equation x2dy — 2xydx = x* cos x dx is
(B) ‘;i sq. units (A) y=x2sinx+cx?
3 (B) y=x*sinx+c
(C) 259 units
(C) y=sinx+cx?
8 .
(D) 3 sq. units (D) y =Cos X + cx2
Space For Rough Work
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38. | caniydle WoTd (v, y) VR, AIFUS LU | 41, 20-3]+4k, 21+ -komai-j+2k
2x
'}7 &ud, (1, 2) RVORAT Fwws Zowd OB wote XeOIOTY ‘aCéd AT
TReros 38, Teadodn Sedo3n
(A) 3 (B) mo=eod A) 6
(C) Oeprl@ (D) ©SITTOD (B) -5
(C) -6
(D) 5
39. XOBRwE 1+ +k 3081+ 3] + 5k risd
AABC o maEoness AB =¥ AC
g 2 2. [2xbf+[3-bf=1443a]=6
CI0ORY, ©FE, TN T, SAQATRN A DT
P
T BRI T, Besdodd 4T ead [b] o e
(A) 6
w L e
(B) 3
|
©) 7 (D) 14 © 2 ;
(D) 4
40. 3 % b rivo DO 6 L
i 43. 2o (1, -3, 4) QDS TB
[T irae?dmnc;bd sin ) )
(A) SOBEIcDHE
- -
a+b
@A) [2+b] @) J—z——l (B) oo
> o C) S
- b| (
© =B -1 ;
(D) oouSodmd
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38. The curve passing through the point
(1, 2) given that the slope of the tangent

: o
at any point (x, y) is 7 represents

(A) Circle (B) Parabola
(C) Ellipse (D) Hyperbola

39, TheMovecmm?+}\+l;and?+3§+5ﬁ

: — e
represent the two sides AB and AC
respectively of a AABC. The length of

the median through A is

(A) 523 (B) 14

©) 7 (D) 14

40. Ifa and T; are unit vectors and 0 is the

41.

42.

If the vectors
21-3)+4k 2 +j —kand Al -] + 2k
are coplanar, then the value of A is

(A) 6

(B) -5

(C) -6

(D) 5

If[a x B*+[a - b|* = 144 and [3] =6,
then |_l_;| is equal to

(A) 6
(B) 3
© 2
(D) 4

angle between 2 and T;, then sing is 43. The point (1, -3, 4) lies in the octant
(A) Second
—3 -p
- = a+b
) [a+b] @) 171 (B) Third
p (C) Fourth
|a = | B
© 73— O [a-b| (D) Eighth
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2,083 FoWTeadodn x @0 y-wgieodrt

3 SRR eosomnans, ¢ Selotd

z-e:idm&ﬁ LVOLLTRTIN OTJOERETR)

INE
ENE

(A) (B)

wilA
A

©) (D)

(1, 2, 4) BOHAROT =5 3

45. -"—gé

z+5
6

Xovdesdn o «o3T

3[ 293

®@) %

/293

49

293
@ 5

293

© 9

(D)

x=2 3-y%

ABO 2x — 2y + z = 5 T L0oRS

47. w3BY LPP ob Xowns, Dresssy

2Re0RRNG. Z = 1 1x + Ty 838, Z o3

1o BPoD) BRoOT WO
Y
ol > X
e
X+y=3 . x+3y=9
(A) (0,5) B) (3,3)
C) 5,0 D) G,2)

WOmD Teadod oREnIBny ond
AEFOVT  ROPR, [IEBS e
wodris (0, 3), (1, 1) &3 (3, 0) 8nd.
p,q>OtadJ;$z¥px+qy sNoS z 8

3K, WY (3, 0) =B (1, 1) e,

sine gRe%y) (A) p=2q
3 3 -
@ 5% ® 5 @ p=3
bRV ! \2 €) p=3q
e T R, D) p=q
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44.

45.

46.

If a line makes an angle of% with each

of x and y-axis, then the acute angle

}

made by z-axis is

A

A 7 ®)

A

©5 (D)

The distance of the point (1, 2, —4)

o X=3 Y3, gt S

from the line Bl W 18
293 293
(T ¢ oBp o
293 293
©% o2

The sine of the angle between the

Z2=2"" 3>y . E=9

47. The feasible region of an LPP is shown
in the figure. If Z = 11x + 7y, then the
maximum value of Z occurs at

g 4

ol \ \>X

¥Eymdi Txedyed
(A) O,5) (B) G,3)
© 6,0 D@ G.2)

‘48. Corner points of the feasible region
determined by the system of linear
constraints are (0, 3), (1, 1) and (3, 0).
Let z = px + qy, where p, q > 0.
Condition on p and q so that the

minimum of z occurs at (3, 0) and

straight line o o™ and (1, 1)is
theplaner—2y+z=-5 is (A) p=2q
@A) \/% ® 3 B) p=3
© i ) \2 (©) p=3q
2 19 ®) p=q
Space For Rough Work
Mathematics 17 A-1




49. A 0% B pusdneo P(A) = % P(B) =% 51. A, B 3% C 20w SR &80 w.om
ORI XFemoN VAR
1
AR B ST E SN RorRecRhdsty G 3, 3 K 3
P(A'/B) 030 AR, vyl ADIODR VAR
RoyEeciIctn
2
A) 3 I
A) 13
1
(B) 3 1
3 (B) 3
|
©) 35 © 3
1 ® 3
D 72 8
82, P(E)=P(E)=%e:mm@ﬂE 0B
50. wotd mVRRY 10 XO BTN BT ! 2 o
}32 nh S 8 P PLERTINS.
WO FOTETR IR, C0 et |
A om0 PPN P(EJ/A) = 5
Alo v pdetarnialoverfov el 2 |
% PAE,) = 7 obsy pdawen
I :
A ——
(A) T022 P(E /A) o0
1
1023 =
B) 7024 i
2
© T BT
1024 © 1
1013 1
D) To024 D) %
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95 K ol B ive two events sonck: st 51. The probability of solving a problem
1 : : by three persons A, B and C
then P(A"/B) is respectively. Then the probability of
5 the problem is solved by any two of
(A) 3 them is
A 13
1 12
®B) 3
1
1 ®) 3
W L
© 2
1
D) 13 1
D) 3
50. A die is thrown 10 times, the 52. Events EI and E2 form a partition of
probability that an odd number will the sample space S. A is any event
come up atleast one time is = =.1. 4
P such that P(E ) = P(E,) = 3, P(E,/A)
1 1 2 o
(A) 1024 3 and P(A/EZ) =3 then P(EIIA) is
1023 @ 3
B) 1024 £
2
1 (B) 3
© Tooz
1024 ©) 1
1013 1
® To2a D) 37
Space For Rough Work
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S3. nmA={1,23,4,56},s58nmA §7. P(n): 2" < n! 58 P(n)= Iarteesos
VY, QoD nEso0sndRig ¥rinoa ©3 138 PIZE Prr o3y
ol
posfataotalh NO&%Om A) 2 ®) 3
(A) 64 (B) 63 (C) 4 (D) 5
i R (D) 58
: 58, z=x+iywmn, z+1|=z-1| 3
54. neo A comneeB it AT, TOMUTIIDT R Seseis
Wi, Xowogny Toajodn 1024 I
] (A) %_3‘ (B) =0Iood
n(A) = 2 &on n(B) oo :
: (€) x-eg (D) y-e8
(A) 512 (B) 20
(C) 10 (D) 5
55. sin? 51° + sin? 39° @ Welodn (A) 0 B) 1
17 17
(A) 1 (B) 0 © ¢y M G
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54.

55.

56.

If A={1, 2, 3, 4, 5, 6}, then the
number of subsets of A which contain

atleast two elements is

(A) 64 (B) 63

(C) 57 (D) 58

If n(A) = 2 and total number of
possible relations from set A to set B is

1024, then n(B) is
(A) 512 (B) 20

(C) 10 (D) 5

The value of sin? 51° + sin? 39° is

(A) 1 (B) 0

(C) sinl12° (D) cos12°

If tan A + cot A = 2, then the value of

tan® A + cot* A =
(A) 2 (B) 1

<€) 4 D) 5

57.

(©) 4

58.

59.

60.

If P(n) : 2" <n!

Then the smallest positive integer for

which P(n) is true if
(A) 2 (B) 3

D) 5

If z = x + iy, then the equation |z + 1| =

|z~ 1| represents

(A) acircle (B) aparabola
(C) x-axis (D) y-axis
The value of

lﬁc9 3 IGCIO i, 16C6 o lﬁc_, is

A) 0 B) 1

(C) 17(-:]0 (D) l?c3

The number of terms in the expansion

of(x+y+2)10is

(A) 66 (B) 142

(€) 11 (D) 110
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IM0730K (DAY-1, SECOND SESSION)

SUBJECT CODE TIME Question Booklet
VERSION
SERIAL NUMBER
M 2.30 PM TO 3.50 PM ___CODE
TOTAL MAXIMUM TIME MAXIMUM Total No. of MENTION YOURCET
DURATION | FOR ANSWERING MARKS Questions NUMBER
80 Minutes 70 Minutes 60 60

DOs:
(%
pr )
3

4.
5

DONTS:

1;

This question booklet is issued to you by the room invigilator after 2,30 pm.

Check whether the CET Number has been entered and shaded in the respective circles on the OMR answer sheet.

The version code and serial number of this question booklet should be entered on the OMR answer sheet and the respective
circles should also be shaded completely,

The Version Code and Serial Number of this question booklet should be entered on the Nominal Roll without any mistakes.
Compulsorily sign at the bottom portion of the OMR answer sheet in the space provided.

THE TIMING AND MARKS PRINTED ON THE OMR ANSWER SHEET SHOULD NOT BE DAMAGED /
MUTILATED /SPOILED.

The 3™ Bell rings at 2.40 pm, till then;

* Do not remove the seal present on the right hand side of this question booklet.

¢ Do not look inside this question booklet or start answering on the OMR answer sheet.
IVIPORTANT INSTRUC THONS TO CANDIDALES

In case of usage of signs and symbols in the questions, the regular textbook connotation should be considered unless stated
otherwise.

This question booklet contains 60 questions and each question will have one statement and four different options /
responses & out of which you have to choose one correct answer.

After the 3 Bell rings at 2,40 pm, remove the paper seal of this question booklet and check that this booklet does not
have any unprinted or torn or missing pages or items etc., if so, get it replaced by a complete test booklet. Read each item
and start answering on the OMR answer sheet.

Completely darken / shade the relevant circle with a blue or black ink ballpoint pen against the question number on
the OMR answer sheet.

peleviciag ) 3 8,50M0 WRONG METHODS

CORRECT METHOD @© ONONGCGESON N NO
©00C0®EO0D® ®©®0

Please note that even a mirite unintended ink dot on the OMR answer sheet will also be recognized and recorded by the
scanner, Therefore, avoid multiple markings of any kind on the OMR answer sheet.

Use the space provided on each page of the question booklét for Rough Work, Do not use the OMR answer sheet for the
same,

Last Bell will ring at 3.50 pm, stop writing on the OMR answer sheet and affix your left hand thumb impression on
the OMR answer sheet as per the instructions,

Hand over the OMR answer sheet to the room invigilator as it is.

9. Afler separating the top sheet (Office copy), the invigilator will return the bottom sheet replica (Candidate’s copy) to you.

NOTE : In case of any discrepancy between English and Kannada Versions, the English version will be taken as final.
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